2304 - 2023-2024 Physical Education Supplies & Equipment Bid.

Commodity Code	Description	<u>Vendor</u>	<u>Unit of</u> Measure	Awarded Price	Qty	Extended Price
03010410	WATER NOODLES: Flag House: W8052: Set of 24 Multicolored water noodles 62 inch L.W7561 64 3/4"L	209920-S & S WORLDWIDE INC	SET	\$64.69	2	\$129.38
03020020	ARROWS, wooden, made of port oxford cedar. Length 30 inch, 3 Plastic Vanes BSN20021106 -20021300	8841-BSN SPORTS LLC	DOZ	\$52.22	5	\$261.10
03020050	Bow for Archery; Genesis Compound Bow for Archery: NASP Approved, AMO 35-1/2 length, Adjustable Draw Weights from 10-20 lb., Adjustable Draw Lengths from 15-30"L, Use with up to 40 lb. draw weight arrows, Aluminum and composite fi1255485		EACH	\$163.30	4	\$653.20
03020133	ARCHERY TARGET-FREESTANDING NASP; target face; Official NASP School Target (archery) Item No: 72-534 32"L x 33"W x 12"H, 65 lb. Freestanding archery target for schools meets NASP specifications, a polypropylene target face is wea72-534	7281-THE PROPHET CORPORATION	EACH	\$215.10	2	\$430.20
03030011	Portable net system. 30" net that can be set to full 61" H for badminton or adjusted for tennis & over-the-net activities. Durable powder-coated steel frame sets up & takes down quickly & easily, requires no extra weight for stabi15043-PS	211950-SCHOOL HEALTH CORPORATION	EACH	\$132.99	1	\$132.99
03030030	BADMINTON RACKET, tempered steel, leather grip. Carlton Attack T1 -1376932 AS SPEC	8841-BSN SPORTS LLC	EACH	\$7.94	6	\$47.64
03030031	Badminton Racquet/Prism Pack; Durable steel head and twin shaft racquet; Vinyl PU grip; Each set includes 1 of each color: blue, green, orange, purple, red and yellow.1297959 AS SPEC	8841-BSN SPORTS LLC	SET	\$28.05	1	\$28.05
03030040	Badminton Racket, Aluminum Head, leather grip. Carlton 4.3 Model -20026541 AS SPEC	8841-BSN SPORTS LLC	EACH	\$10.47	34	\$355.98
03030070	Badminton Shuttlecock, Tournament nylon,6/tube, USBA Approved, Indoor, Green/slow. Carlton T800 -T800WHGR AS SPEC	8841-BSN SPORTS LLC	TUBE	\$7.98	1	\$7.98
03030071	Carlton T-800 Birdies - Yellow Only.MSBIRDYL	8841-BSN SPORTS LLC	EACH	\$1.03	60	\$61.50
03030080	Badminton Shuttercock, Tournament nylon, 6/tube, USBA Approved, indoor, Blue/Medium Carlton T800WHBC.T800WHBL AS SPEC	8841-BSN SPORTS LLC	TUBE	\$7.98	21	\$167.58
03030090	Badminton Shuttlecock, Tournament, nylon, 6/tube, USBA approved, indoor, Red/Fast Carlton T800WHRD -T800WHRD AS SPEC	8841-BSN SPORTS LLC	TUBE	\$7.98	20	\$159.60
03040120	BALL, Wiffel type, plastic with holes, softball size. Cosom Safe T Play10128-PS SOLD	211950-SCHOOL HEALTH CORPORATION	DOZ	\$1.47	2	\$2.94
03040135	SOFTBALL; Jugs Softie Softball; 12", Sold by the dozen; No Substitute.B5100	101720-ALL AMERICAN SPORTS CORP	DOZ.	\$118.50	1	\$118.50
03040136	Softball; Champro Chicago Softball 16".CHAMPION C5B-16	205620-PYRAMID SCHOOL PRODUCTS	EACH	\$18.95	2	\$37.90
03040140	BASES, Throwdown, indoor/outdoor, color/Orange, set/3 bases & homeplate. MacGregor - W13352001CHAMPRO	209920-S & S WORLDWIDE INC	SET	\$8.45	3	\$25.35
03040150	BASES, softball throwdown, color/yellow; SET; 3 three bases & a home plate43027-PS	211950-SCHOOL HEALTH CORPORATION	SET	\$29.02	2	\$58.04
03040250	BATS, Wiffle type, all plastic construction. Wiffle 3193XXXX -319XXXX AS SPEC	8841-BSN SPORTS LLC	EACH	\$3.58	8	\$28.64

2304 - 2023-2024 Physical Education Supplies & Equipment Bid.

Commodity	Description	Vendor	<u>Unit of</u>	Awarded	Qty	Extended
<u>Code</u>			Measure	Price		Price
03050011	Mini Basket Ball - MacGregor Lil chanp, size 3 or 22"1268935	8841-BSN SPORTS LLC	EACH	\$4.09	6	\$24.53
	Basketball - NCAA All Court model; Men's Composite leather. MacGregor MCX100XH - MCX100XH AS SPEC	8841-BSN SPORTS LLC	EACH	\$17.27	7	\$120.89
03050030	Basketball - NCAA All Court model; Women's Composite Leather. MacGregor MCX128XH - MCX128XH AS SPEC	8841-BSN SPORTS LLC	EACH	\$17.27	10	\$172.70
03050032	Wilson Evolution Basketball; Womens Size 6; Composite Core with cushion core technology; extra deep pebble channels; Butyl bladder.1013917 AS SPEC	8841-BSN SPORTS LLC	EACH	\$68.84	8	\$550.72
	BASKETBALL, Rubber, nylon or composition cover nylon would rubber bladder, orange, Intermediate. Voit CB8 -VCB8HXXX AS SPEC	8841-BSN SPORTS LLC	EACH	\$5.68	6	\$34.08
	BASKETBALL; Gopher 60-079; Wilson NCAA Street Shot Basketball Women's Size 6.WLWZ10033XB6	8841-BSN SPORTS LLC	EACH	\$91.04	2	\$182.08
	Basketball goal; AlleyOop Goal- portable basketball goal. Thick 1-1/4" steel tubing. Rubber feet on the base provide traction and improve stability. Units simply tip onto 2 wheels for easy transportation from storage to play areas65-122	7281-THE PROPHET CORPORATION	EACH	\$260.93	1	\$260.93
	FLYING DISCS; 8-1/2 Inch Voit Tuff Coated Foam Flying Discs; Set of 6; 1 of Each Color: Blue, Green, Orange, Purple, Red and Yellow; Latex free.1092455 AS SPEC	8841-BSN SPORTS LLC	SET	\$30.06	4	\$120.24
03060012	Innova Disc Golf Discs; DX mid-range. 21 Centimeters diameter, 140-150 grams.20-841	7281-THE PROPHET CORPORATION	EACH	\$12.56	10	\$125.60
03060150	Frisbees, 140 grams; World Class. Whamo 2126.1308822	8841-BSN SPORTS LLC	EACH	\$6.10	2	\$12.20
03080051	Color My Class 9 1/4" Long P.G. Sofs Football; Roto-molded from foamed vinyl; each set includes 1 of each color: blue, green, orange, purple, red and yellow.BSN 1255119	205620-PYRAMID SCHOOL PRODUCTS	SET	\$39.59	1	\$39.59
03080053	Nike 1000 Football; Size 3.NKN100446922207	8841-BSN SPORTS LLC	EACH	\$20.96	12	\$251.52
03080054	Nike 1000 Football; Size 4.NKN100446922208	8841-BSN SPORTS LLC	EACH	\$20.96	15	\$314.40
03080056	Nike Vapor Flight Airlock Football; High tack composite cover; Magnigrip laces and silicone half stripe; Two-ply Butyl bladder; NFHS authenticating mark; Size 4 intermediate.1454496	8841-BSN SPORTS LLC	EACH	\$58.17	14	\$814.38
03080130	Football, Sportime-Max Softip FB Trainer, #6 Junior.MSCNCFTBY	8841-BSN SPORTS LLC	EACH	\$6.58	44	\$289.52
03080180	Football, Gatorskin, Foam Ball; Rubber Coated; Size 3 JuniorW4914002 S&S	209920-S & S WORLDWIDE INC	EACH	\$3.66	29	\$106.14
03080230	Football Belts; One Piece Attached- Flag System, 3 Flags attached to Quick Release Buckle; Size/Medium; 3 Flags/Belt; 12 Belts/set; 3 Flags/belt; 12 Belts/set; Color/RED63-259 RED&BLUE	7281-THE PROPHET CORPORATION	SET	\$116.10	3	\$348.30
	GOLF CLUBS, irons, men's size, #9 right hand cavity back club BSN 3082143082MXXX AS SPEC	8841-BSN SPORTS LLC	EACH	\$20.37	10	\$203.70
03100087	Disk Golf- Innova Disc Golf Discs; DX for beginners. 21 cm diameter, 140-150 grams; Mid-Range GY20-841; NO SUBSTITUTE20-841	7281-THE PROPHET CORPORATION	EACH	\$12.56	30	\$376.80
	Create-A-Beam, Set of 18.	7281-THE PROPHET CORPORATION	SET	\$125.10	1	\$125.10

2304 - 2023-2024 Physical Education Supplies & Equipment Bid.

Commodity Code	<u>Description</u>	<u>Vendor</u>	<u>Unit of</u> Measure	Awarded Price	Qty	Extended Price
03110290	Fitness Ball, 65 CM tested to 600 lbs. BSN # 1082753 -1335935 RECTOR	8841-BSN SPORTS LLC	EACH	\$11.63	2	\$23.26
03110350	Gymnastics Mat, Ultimat 6 Feet x 12 Feet x 1.38 Inches Gymnastics Mat with Panel Fasteners.1041583 BLUE	8841-BSN SPORTS LLC	EACH	\$279.87	3	\$839.61
	MAT; BONDED FOAM MAT WITH END FASTENERS SKU# 1054613 NAVY BLUE; 4 FT. X 8 FT. X 2 IN.1041903 AS SPEC	8841-BSN SPORTS LLC	EACH	\$159.89	1	\$159.89
03110400	Inflator - Omnikin 2.5 HP inflator; for cageballs; BSN #BS-24630XXX.NAAT15XX	8841-BSN SPORTS LLC	EACH	\$229.31	1	\$229.31
03110420	MATS, FOLDING - Expando Nova Mats 6 x 12 x 2 thick, color/blue. AMF -1044287DS	8841-BSN SPORTS LLC	EACH	\$708.61	4	\$2,834.44
03110460	LANDING MAT - 6 ft x 12 ft x 12 inches thick; color/blue. AMF -G936YXXXDS	8841-BSN SPORTS LLC	EACH	\$1513.39	2	\$3,026.78
03110461	Yoga Mat. Features detailed, yet easy-to-follow diagrams of 20 popular yoga poses for any age or user level. Diagrams are neatly organized around the edge of the 1/8" washable mat for visibility & reference during posing. Sticky,n1240146	8841-BSN SPORTS LLC	EACH	\$9.66	6	\$57.96
03110462	Yoga Mat. 1/4" Extra Thick Deluxe Yoga Mat. Extra thick 1/4" (6.2 mm). Heavy duty, but lightweight at 3.6 lbs. Latex-free & free of heavy metals, 74" x 24" x 1/4".54359-PS OMAT	211950-SCHOOL HEALTH CORPORATION	EACH	\$29.02	40	\$1,160.80
03110872	Rogue Speed Rope. Ability to easilly change lenghts. Each rope comes with 10' of black-coated cable.17110xxx	8841-BSN SPORTS LLC	EACH	\$3.35	5	\$16.75
03120050	BALLS, street hockey, restricted bounce; safe, soft & durable. Dom Plastisol35188-PSZONE	211950-SCHOOL HEALTH CORPORATION	EACH	\$2.01	36	\$72.36
	Soccer/Hockey Goal- ABS. 4 ft. x 6 ft. goal. Sportstuff rods with ABS fittings resist breaking on impact to withstand intense games; 3mm net with nylon sleeves catches shots that go in the goal for simple retrieval. Weighs 18 lb.35233-PS	211950-SCHOOL HEALTH CORPORATION	EACH	\$211.09	1	\$211.09
	Hockey Stick - Shield 47" Aluminum Shaft Street Hockey Set; outdoors; 12 player set; white/black outdoor blades; Item No. 792 Shield Sports; No Substitute.35154-PS	211950-SCHOOL HEALTH CORPORATION	SET	\$303.44	1	\$303.44
	HOCKEY STICK; Shield Sports Item #792; Hockey Stick-Shield 47 inch Aluminum ShaftStreet Hockey Set; Outdoors Black/White Blades.35154-PS	211950-SCHOOL HEALTH CORPORATION	SET	\$303.44	1	\$303.44
03120260	Pillo Polo, 6 Yellow & 6 Blue Sticks, 31 L, two 7 Foam Balls & Official Rules. Pillo Polo15139 PS SOFT	211950-SCHOOL HEALTH CORPORATION	SET	\$81.96	4	\$327.84
	STICKS, GOALIE, STREET HOCKEY, 42 PLASTIC SQUARE HANDLE. Shield - FH 6851057XXXX	8841-BSN SPORTS LLC	EACH	\$17.02	10	\$170.20
	Hockey Stick; Shield 47" Aluminum-Shaft Street Hockey Set; Outdoors; 12-Player Set, White/Black OUTDOOR blades; Item No. 17-326 Shield Sports, No Substitute.17-326	7281-THE PROPHET CORPORATION	SET	\$314.10	1	\$314.10
	Rukket Rebounder. Rukket 4x7ft Lacrosse Rebounder Pitchback Training Screen. Practice Catching, Throwing, and Shooting.1377188 BSN	8841-BSN SPORTS LLC	EACH	\$238.88	1	\$238.88
03130060	Lacrosse Sticks, STX attack model, light weight aluminum shaft and traditional pockets. STX 1454234	8841-BSN SPORTS LLC	EACH	\$32.00	14	\$448.00
03140110	Balls, Bowling - Rubber, 2.5 lb, 2-finger holesW9284;S&S	209920-S & S WORLDWIDE INC	EACH	\$18.50	8	\$148.00

2304 - 2023-2024 Physical Education Supplies & Equipment Bid.

Commodity	Description	Vendor	Unit of	Awarded	Qty	Extended
<u>Code</u> 03140113	Bowling Set; UltraPin; UltraPin Bowling Set.15 inches tall and 9.3 oz plastic bowling pins. Se	40044 DON CDODTO II O	Measure	Price		Price
	includes 10 pins, pin setup template, and score pad.1246124		SET	\$33.38	3	\$100.14
03140115	BOWLING RAMP; lightweight steel, 26"W x 67"l x 28"H.1454513 VOIT	8841-BSN SPORTS LLC	EACH	\$105.77	2	\$211.54
03140189	Tchoukball: Synthetic Hand Stitched Leather .88 lbs.58-549	7281-THE PROPHET CORPORATION	EACH	\$20.66	3	\$61.98
03140200	Disc, Flying, Kan Jam, set includes; 2 durable highly portable official Kam Jam Goals, 2 official Kan jam labels, Custom designed official Kan Jam flying discs, instructions.16171-PS	211950-SCHOOL HEALTH CORPORATION	SET	\$43.23	2	\$86.46
03140268	ROPE, TUG OF WAR ROPE; 1" diameter, top grade manila rope, 72" loop and braided at each end. 100 feet in length.1040951 AS SPEC	8841-BSN SPORTS LLC	EACH	\$81.23	1	\$81.23
03140285	Triumph Tournament Bean Bag Toss Game with 2 Easy Transport Game Platforms. Scratch Resistant Surface, Convenient Carry Handle include 8 Toss Bags.1269000 BAGGO	8841-BSN SPORTS LLC	SET	\$89.69	2	\$179.38
03140335	Official Tchoukball, size 3, Mens.1039530-PS PXT	211950-SCHOOL HEALTH CORPORATION	EACH	\$7.01	3	\$21.03
03140695	Spikeball Pro Net.10583-PS	211950-SCHOOL HEALTH CORPORATION	EACH	\$94.31	5	\$471.55
03141175	Spike ball set. 1 ball set includes: drawstring bag, rule book, net.1453529	8841-BSN SPORTS LLC	SET	\$45.45	4	\$181.80
03160010	SOCCER BALL, GATORSKIN, foam ball rubber coated; Size 4. Voit 440171234970 AS SPEC	8841-BSN SPORTS LLC	EACH	\$17.32	5	\$86.60
03160070	SOCCER BALLS, NERF soccer regulation size. NerfChampion SFC	205620-PYRAMID SCHOOL PRODUCTS	EACH	\$16.69	2	\$33.38
03160080	SOCCER BALLS, SIZE 5. Voit CS33 -W11622005;Spectr	209920-S & S WORLDWIDE INC	EACH	\$4.51	24	\$108.24
03160098	Voit Rubber Soccer Ball, Size 5W11622005;Spectr	209920-S & S WORLDWIDE INC	EACH	\$4.51	5	\$22.55
03170011	High-grade yarn balls; Flaghouse fleece balls; 4 Inches White-Dz #W834; soft and durable, Wt. 35 grams each1343052	8841-BSN SPORTS LLC	DOZ.	\$38.74	4	\$154.96
03170055	Ball Bladder Replacements - Kin-Ball - 48 diameter 105620-97110105-PS	211950-SCHOOL HEALTH CORPORATION	EACH	\$65.91	1	\$65.91
03170185	Balls, Beach, Vinyl, 24 inch diameter Huffy 2449xxxx -10007-PS 24"	211950-SCHOOL HEALTH CORPORATION	EACH	\$2.81	45	\$126.45
03170200	Balls, Beach, Vinyl, 48 inch Diameter Huffy 2453xxxx -10899-PS 48"	211950-SCHOOL HEALTH CORPORATION	EACH	\$9.23	17	\$156.91
03170225	BALL, Gatorskin playball, size 6.5 inch, GatorskinW4789 RED	209920-S & S WORLDWIDE INC	EACH	\$8.51	10	\$85.10
03170231	BALL, Gaterskin special size 8 inch. Gaterskin; color / BLUE.W4791BL	209920-S & S WORLDWIDE INC	EACH	\$16.24	6	\$97.44
03170232	BALL, Gaterskin special size 8 inch. Gaterskin; color / GREEN.W4791GR	209920-S & S WORLDWIDE INC	EACH	\$16.24	6	\$97.44
03170233	BALL, Gaterskin special size 8 inch. Gaterskin; color / ORANGE.W4791OG	209920-S & S WORLDWIDE INC	EACH	\$16.24	4	\$64.96
03170234	BALL, Gaterskin special size 8 inch. Gaterskin; color / RED.W4791RE	209920-S & S WORLDWIDE INC	EACH	\$16.24	3	\$48.72
03170235	BALL, Gaterskin special size 8 inch. Gaterskin; color / YELLOW.W4791YE	209920-S & S WORLDWIDE INC	EACH	\$16.24	6	\$97.44
03170240	BALLS, PLAYGROUND TYPE, LAMINATED RED RUBBER Voit PG 8.5 inch-AS SPEC	8841-BSN SPORTS LLC	EACH	\$3.55	72	\$255.60
03170250	BALLS, PLAYGROUND TYPE, LAMINATED RED RUBBER Voit PG10 -AS SPEC	8841-BSN SPORTS LLC	EACH	\$3.97	8	\$31.76

2304 - 2023-2024 Physical Education Supplies & Equipment Bid.

Commodity Code	<u>Description</u>	<u>Vendor</u>	<u>Unit of</u> <u>Measure</u>	Awarded Price	<u>Qty</u>	Extended Price
03170273	Balls - Omnikin Ball; Kin-Ball 48" diameter (black) 2lbs-6 oz.; includes 1 latex bladder.11-319	7281-THE PROPHET CORPORATION	EACH	\$323.10	2	\$646.20
03180010	Diller Pickleball Paddles; 7 ply hardwood-straight handle with rope. Diller -AS SPEC	8841-BSN SPORTS LLC	EACH	\$10.22	10	\$102.20
03180020	Pickle Balls; Dura 56 balls, seamless16044-PS PICKLE	211950-SCHOOL HEALTH CORPORATION	DOZ	\$36.62	17	\$622.54
03180022	PICKLEBALL REPLACEMENT NET; Paddle Pro Elite Portable Pickleball Replacement Net Only (no sub).56-132 NET ONLY	7281-THE PROPHET CORPORATION	EACH	\$77.55	6	\$465.30
03180030	Table Tennis Ball, 3 Star, deluxe white, Championship ball.1035612	8841-BSN SPORTS LLC	DOZ	\$4.50	141	\$634.50
03180073	Stiga Premium Clipper Table Tennis Net Item 10-143.1454852 AS SPEC	8841-BSN SPORTS LLC	EACH	\$31.88	2	\$63.76
03180090	Table Tennis Paddle, 5 Ply Pad with sponge rubber 2.0 mm thickNAF2XXX	8841-BSN SPORTS LLC	EACH	\$3.75	70	\$262.50
03180190	TENNIS BALLS, Penn yellow practice.MTPENBAL 3/CAN	8841-BSN SPORTS LLC	DOZ	\$17.60	3	\$52.80
03180210	TENNIS BALLS, Penn championship X76YHD; 6 doz/case . Penn -41032-PS	211950-SCHOOL HEALTH CORPORATION	CASE	\$99.30	3	\$297.90
03180220	TENNIS BALLS, 90mm trainer; 3.5dia.,integral skin polyurethan construction.1704XXXX	8841-BSN SPORTS LLC	EACH	\$0.60	30	\$18.06
03180230	Tennis Ball, foam, high density, tennis size, bounces 1/2 the height it's dropped.CHAMPION RS27	205620-PYRAMID SCHOOL PRODUCTS	EACH	\$1.95	36	\$70.20
03180280	Tennis Ball Bags, mesh, 24 " x30 " ; knotless nylon, sm.sq.holes that hold a tennis ball; color/blue. MacGregor -CHAMPION MB21BL	205620-PYRAMID SCHOOL PRODUCTS	EACH	\$2.99	4	\$11.96
03190010	AIR HORN, 1000 BLASTS -47011-PS	211950-SCHOOL HEALTH CORPORATION	EACH	\$15.13	2	\$30.26
03190070	Measuring Tape, Fiberglass, vinyl coated, 200 Ft. Beconta on Reel. ChampionMSTAP200 AS SPEC	8841-BSN SPORTS LLC	EACH	\$11.75	1	\$11.75
03190312	BATONS, Alumium Relay; Official Size, Anodized Aluminum; Non-Slip; Optic Yellow Only.AALBATGO GOLD	8841-BSN SPORTS LLC	EACH	\$1.66	7	\$11.62
03200010	VOLLEYBALL, FABRIC COVERED SOFT TRAINING BALL (NO STING) Tachikara Soft V - 33617-PS	211950-SCHOOL HEALTH CORPORATION	EACH	\$19.46	10	\$194.60
03200020	VOLLEYBALL; "Biggie"; 16 inch Diameter; 19oz.; Composite Cover.10564-PS	211950-SCHOOL HEALTH CORPORATION	EACH	\$19.34	5	\$96.70
03200030	Volleyball, Super Soft Touch Composite Cover, 18 panel, official size and weight, Tachikara Model SV-5WSTACSV5WS AS SPEC	8841-BSN SPORTS LLC	EACH	\$31.88	8	\$255.04
03200060	Volleyball, Leather composit, soft touch cover, 18 panel, white cover, floating bvtyl bladder, official size. Tachikara Volley Lite20022575 AS SPEC	8841-BSN SPORTS LLC	EACH	\$26.93	15	\$403.95
03200135	VOLLEYBALL SET; CrossNet (4 way portable volleyball set). Net adjusts from traditional women's (7'4"H) or men's (7'11"H) volleyball heights. Complete Set includes net (13'L x 13'W), poles, carrying bag, volleyball, pump, and gamei85-610	7281-THE PROPHET CORPORATION	SET	\$152.10	2	\$304.20
03210050	Bag Platform, TKO Pull-Pin Adjustable Bag Platform; 24 diameter; all chrome-plated finish; mounting brackets designed to fit 16 wall beams; 2 square steel construction; adjustable height design with spring loaded pull-pin; 24 hard1282016	8841-BSN SPORTS LLC	EACH	\$97.54	1	\$97.54
03210051	PLATFORMS; 24 Inches High, 27 Inch Sq.; 52 lbs.; Plyometric Square Platforms; All-Welded Metal; Wider Base1457907 BSN	8841-BSN SPORTS LLC	EACH	\$108.68	1	\$108.68

2304 - 2023-2024 Physical Education Supplies & Equipment Bid.

Commodity Code	Description	Vendor	<u>Unit of</u> Measure	Awarded Price	<u>Qty</u>	Extended Price
03210052	PLATFORMS; 30 Inches High, 30 Inch Sq.; 55 lbs.; Plyometric Square Platforms; All-Welded Metal; Wider Base1457908 BSN	8841-BSN SPORTS LLC	EACH	\$116.68	1	\$116.68
03210060	Exercise Bike, Schwinn Spinner Pro Model; heavy duty all steel construction. SSchwinn Spinner Pro -1456010;Schwinn	8841-BSN SPORTS LLC	EACH	\$997.88	1	\$997.88
03210090	Flexibility Tester, steel with boot rest measures in inches & centimeters W51581378689 AS SPEC	8841-BSN SPORTS LLC	EACH	\$39.50	1	\$39.50
03210130	Jumping Rope, with Unbreakable Plastic Swivel Handles, Blue/White, 7 FT, Skip Ropes. J.E. Gregory -1040159		EACH	\$1.55	15	\$23.25
03210140	Jumping Rope, with Unbreakable Plastic Swivel Handles, Blue/White, 8 FT., Skip Ropes. J. E Gregory -1040166		EACH	\$1.67	15	\$25.05
03210150	Jumping Rope, with Unbreakable Plastic Swivel Handles, Blue/White 9 FT., Skip Ropes. J. E Gregory -1040173		EACH	\$1.77	15	\$26.55
03210170	Jumping Rope, With Unbreakable Plastic Swivel Handles Blue/White, 16 FT., Skip Ropes. J. E. Gregory -1040135	8841-BSN SPORTS LLC	EACH	\$2.56	7	\$17.92
03210210	JUMP ROPE RACK, 24 Inches Long x 2 Inches Wide; Steel Rack with 5 Angled 10 Inch Long Pegs; Mounting Hardware Included.MSWMJRACBM	8841-BSN SPORTS LLC	EACH	\$21.88	1	\$21.88
03210430	WEIGHT SET; Body Solid Rubber Coated Olympic; Quard Grip Design; Heavy-Duty Rubber; Impact Resistant, Fits Olympic Bar; Set Includes: (2) 45lb. Plates; (2) 35lb. Plates; (2) 25lb. Plates; (2) 10lb.; (4) 5lb. Plates; (2) 2.5 lb. Pl1256574 AS SPEC	8841-BSN SPORTS LLC	SET	\$577.55	1	\$577.55
03210490	SCOOTER BOARDS; Gopher GW86-194; Ultimate Scooter Boards; Set of 6.86-194	7281-THE PROPHET CORPORATION	SET	\$522.83	1	\$522.83
03210570	PUSH UP CHALLENGER; USED DURING FITNESS TESTING TO TEACH PROPER PUSH UPS.25060-PS	211950-SCHOOL HEALTH CORPORATION	EACH	\$43.97	6	\$263.82
03210753	EX-U-ROPE; Gopher CW11-683; Licorice Speed Ropes; 9 feet; Set of 6.17209XXX	8841-BSN SPORTS LLC	SET	\$6.72	1	\$6.72
03220020	BEAN BAG, 5 inch X 5 inch, NYLON BAG, 8 OZ., CLEAN DRY BEANS1293418 AS SPEC	8841-BSN SPORTS LLC	DOZ	\$6.67	3	\$20.01
03220040	BALL BAGS,1/4POLYETHYLENE MESH,32X36,HOLDS 10 BASKETBALLS, SPECIAL, CLIPPING, DRAWSTRINGSNBCNET AS SPEC	8841-BSN SPORTS LLC	EACH	\$3.10	11	\$34.10
03220086	Big Foam Dice; Large, lightweight, and easy to see from a distance. Soft 6" foam dice connect math skills with PE; GOPHER GY 10-022; Blue. NO SUBSTITUTE10-022	7281-THE PROPHET CORPORATION	PAIR	\$25.16	1	\$25.16
03220365	Cones, Mini Disc Cones; KwikGoal, 25 per pack.1255706	8841-BSN SPORTS LLC	PACK	\$6.06	2	\$12.12
03220366	Disc Cone Carrier. KwikGoal.21036-PS	211950-SCHOOL HEALTH CORPORATION	EACH	\$1.61	5	\$8.05
03220380	CONES, POLY CONES, FLEXIBLE PUC RUBBER, ONE PIECE CONSTRUCTION; 12 inch1040814	8841-BSN SPORTS LLC	EACH	\$4.94	12	\$59.28
03220400	CONES, Small multi color 1/2 cone set, soft flexible and easily stackable 7-3/4 in D x 3 in. H. 122430-97121033-PS 6/PK	211950-SCHOOL HEALTH CORPORATION	SET	\$2.31	1	\$2.31
03220410	CONES, Poly cones, flexible puc rubber, one piece construction, 28 inch1040845	8841-BSN SPORTS LLC	EACH	\$18.66	2	\$37.32

2304 - 2023-2024 Physical Education Supplies & Equipment Bid.

Commodity	Description	Vendor	<u>Unit of</u>	Awarded	Qty	Extended
<u>Code</u>	-	<u>Venuoi</u>	<u>Measure</u>	<u>Price</u>	<u> </u>	<u>Price</u>
	Cones, game - 28H with hole on top of cone; base is weighted (Black). Gamecraft -JBC RS70032C	205620-PYRAMID SCHOOL PRODUCTS	EACH	\$18.99	8	\$151.92
03220437	CONES, Vinyl cones 18" rainbow, set of 6.1245875	8841-BSN SPORTS LLC	SET	\$47.47	9	\$427.23
03220452	DECK TENNIS RINGS, color/yellow -15484-PS	211950-SCHOOL HEALTH CORPORATION	EACH	\$7.35	1	\$7.35
03220520	HULA HOOPS, 36 inch DIAMETER Huffy1245875	8841-BSN SPORTS LLC	DOZ	\$42.21	2	\$84.42
	Hoop - 24" Premium; extra thick walls prevent kinking; includes 2 of each color: blue, green, orange, purple, red and yellow.W9758001SPECTRUM	209920-S & S WORLDWIDE INC	SET	\$43.06	3	\$129.18
03220522	HOOP STORAGE BAGS; Hi-grade polyester bag for transporting and distributing your hoops Stores up to 12 hoops per bag.1256802 30" BLUE	8841-BSN SPORTS LLC	EACH	\$12.56	10	\$125.60
03220570	Inflating Needles - 100/pkg Macgregor MSNED1 -44024-PS	211950-SCHOOL HEALTH CORPORATION	PACK	\$2.95	2	\$5.90
03220610	JUGGLING SCARF PACK - 108 COLORFUL SCARVES; Huffy 11003xxx -1206258 PER DOZ	8841-BSN SPORTS LLC	PACK	\$29.97	2	\$59.94
03220630	Lanyard for whistles, nylon braided black cord, with metal clip. ChampionJV58201	8055-STAPLES INC	EACH	\$1.07	15	\$16.05
03220638	Manikins with CPR Monitors; Prestan Adult Manikins with CPR Monitors (4-Pack): includes diverse skin-tone manikins (4 brown) with CPR monitors, 50 adult face-shield/lung-bags, a red nylon carrying case for easy portability, and an1037432	211950-SCHOOL HEALTH CORPORATION	SET	\$659.34	2	\$1,318.68
	MESHBAGS, Rainbow VersaBag, Set of 6; Size Large; holds up to 6 basketballs.W5941 5"HOLD	209920-S & S WORLDWIDE INC	SET	\$12.76	1	\$12.76
03220683	MESHBAGS, Rainbow VersaBag, Set of 6; Size XXL; holds up to 16 basketballs.36116-PS BRAND	211950-SCHOOL HEALTH CORPORATION	SET	\$19.07	2	\$38.14
03220790	Paint - Line Marker; WHITE Athletic paint; 18 oz. cans; 12 cans per case.1460343	8841-BSN SPORTS LLC	CASE	\$65.55	2	\$131.10
03220850	POTATO SACKS, LARGE HEAVY BURLAP -1378733	8841-BSN SPORTS LLC	DOZ	\$32.09	6	\$192.54
	RIVER STONES; Weight Capacity 110 Lbs. 3 Big Stones, 3 Inches High x 14 Inches Wide, and 3 Small Stones 2 Inches High and 10 Inches Wide; One of Each Color: Blue, Green, Orange, Purple, Red and Yellow. Activity Guide Included.61783	211950-SCHOOL HEALTH CORPORATION	SET	\$67.45	3	\$202.35
03220911	JUMP ROPE RACK; WALL MOUNTED. Five 10 Inch long rope pegs made of steel. MSWMJRACBM	8841-BSN SPORTS LLC	EACH	\$21.88	1	\$21.88
03220927	Scooter Boards; Ultimate Scooter Boards by Gopher indoor set of 6 Rainbow 24" Diameter.82-010	7281-THE PROPHET CORPORATION	SET	\$406.43	1	\$406.43
03220928	SCOOTER BOARDS; Gopher GW86-194; Ultimate Scooter Boards; Set of 6.86-194	7281-THE PROPHET CORPORATION	SET	\$522.83	1	\$522.83
	SCOOTERS, CRAMER, 12 INCH SQUARE WITH MOLDED HAND GUARDS, PLASTIC CASTERS (NO WHEELS); Colors should be Mixed colors 6 PER SET.12510SSW	8055-STAPLES INC	SET	\$21.01	1	\$21.01
03220949	SCORE KEEPER; Tall Flip Score Keeper.1162448	8841-BSN SPORTS LLC	EACH	\$46.12	2	\$92.24
03220950	SCORE KEEPER, Tabletop, for all scores up to 99, 5 White #'S on Red/Green vinyl 1196177	8841-BSN SPORTS LLC	EACH	\$27.90	1	\$27.90

2304 - 2023-2024 Physical Education Supplies & Equipment Bid.

Commodity	Description	Vendor	Unit of	Awarded	Qty	Extended
<u>Code</u>			Measure	Price	~.7	Price
03220951	side; no assembly required; lays flat for storage; size: 11" H x 23" L.49016-PS	211950-SCHOOL HEALTH CORPORATION	EACH	\$39.91	2	\$79.82
03220960	Scrimmage Vest, ADULT size, Oversized open mesh nylon; elastic bottom hem; color/BLUE.22065-PS PALOS	211950-SCHOOL HEALTH CORPORATION	EACH	\$1.35	4	\$5.40
03220980	Scrimmage Vests, ADULT size; oversized open mesh nylon; elastic bottom hem; color/ORANGE. Champion - FH 169 ORG22067-PS PALOS	211950-SCHOOL HEALTH CORPORATION	EACH	\$1.25	19	\$23.75
03220990	Scrimmage Vests, ADULT size, oversized open mesh nylon; elastic bottom hem; color/PURPLE FH 169 PUR22068-PS PALOS	211950-SCHOOL HEALTH CORPORATION	EACH	\$1.39	4	\$5.56
03221040	Scrimmage Vests, YOUTH size; oversized open mesh nylon; elastic bottom hem; color/BLUE.C45ROXXX AS SPEC	8841-BSN SPORTS LLC	EACH	\$1.23	14	\$17.22
03221050	Scrimmage Vests, YOUTH size; oversized open mesh nylon; elastic bottom hem; color/GREEN.C46KEXXX AS SPEC	8841-BSN SPORTS LLC	EACH	\$1.23	14	\$17.22
03221070	Scrimmage Vests, YOUTH size; oversized open mesh nylon; elastic bottom hem; color/ORANGE.C46ORXXX AS SPEC	8841-BSN SPORTS LLC	EACH	\$1.23	29	\$35.67
03221080	Scrimmage Vests, YOUTH size, oversized open mesh nylon; elastic bottom hem; color/PURPLE FH 158 PURC46PUXXX AS SPEC	8841-BSN SPORTS LLC	EACH	\$1.23	14	\$17.22
03221090	Scrimmage Vests, YOUTH size; oversized open mesh nylon; elastic bottom hem; color/RED.C46SCXXX AS SPEC	8841-BSN SPORTS LLC	EACH	\$1.23	10	\$12.30
03221100	Scrimmage Vest, YOUTH size; oversized open mesh nylon; elastic bottom hem; color/YELLOW.C46GOXXX AS SPEC	8841-BSN SPORTS LLC	EACH	\$1.23	14	\$17.22
03221124	CART, METAL BALL CART; Compact Ball Locker- small metal ball cart; holds up to 30 balls; can be padlocked, larger rear wheels; mesh bag included.1162622	8841-BSN SPORTS LLC	EACH	\$277.64	1	\$277.64
03221128	Spot Marker Set - 9 inches Round - 6 Colors; One Dozen per Set.W8869SPECTRUM	209920-S & S WORLDWIDE INC	SET	\$7.09	12	\$85.08
03221130	SPOT MARKERS - SOFT, FLEXIBLE 9 INCH DIAMETER, ADHERE TO GYM FLOOR; COLOR: ORANGE.6059XXXY AS SPEC	8841-BSN SPORTS LLC	DOZ	\$11.87	1	\$11.87
03221138	TAG IT MITS; Gopher 41-286; Tag It Mits; Set of 6 Blue.41-286	7281-THE PROPHET CORPORATION	SET	\$76.46	1	\$76.46
03221150	TAPE, FLOOR, VINYL PLASTIC, 60 YD. X 1 INCH WIDE, COLOR: BLACK ChampionFTAP16BK AS SPEC	8841-BSN SPORTS LLC	EACH	\$2.75	2	\$5.50
03221160	TAPE, FLOOR, VINYL PLASTIC, 60 YD. X 1 INCH WIDE, COLOR: BLUE ChampionFTAP16BL AS SPEC	8841-BSN SPORTS LLC	EACH	\$2.75	2	\$5.50
03221170	TAPE, FLOOR, VINYL PLASTIC, 60 YD. X 1 INCH WIDE, COLOR: GREEN ChampionFTAP16GR AS SPEC	8841-BSN SPORTS LLC	EACH	\$2.75	2	\$5.50
03221180	TAPE, FLOOR, VINYL PLASTIC, 60 YD. X 1 INCH WIDE, COLOR: RED ChampionFTAP16RD AS SPEC	8841-BSN SPORTS LLC	EACH	\$2.75	2	\$5.50
03221190	TAPE, FLOOR, VINYL PLASTIC, 60 YD. X 1 INCH WIDE, COLOR: WHITE ChampionFTAP16WT AS SPEC	8841-BSN SPORTS LLC	EACH	\$2.75	2	\$5.50
03221200	TAPE, FLOOR, VINYL PLASTIC, 60 YD. X 1 INCH WIDE, COLOR: YELLOW ChampionFTAP16GO AS SPEC	8841-BSN SPORTS LLC	EACH	\$2.75	7	\$19.25

2304 - 2023-2024 Physical Education Supplies & Equipment Bid.

Commodity Code	<u>Description</u>	Vendor	<u>Unit of</u> Measure	Awarded Price	Qty	Extended Price
03221210	Tape, Floor, Vinyl plastic, 60 yd x 2 inch wide, color white. ChampionFTAP26WT AS SPEC	8841-BSN SPORTS LLC	EACH	\$5.62	1	\$5.62
03221220	Tape, Floor, Vinyl plastic, 60 yd x 2 inch wide, color navy blue. ChampionFTAP2GBL	8841-BSN SPORTS LLC	EACH	\$5.62	3	\$16.86
03221230	TAPE, FLOOR, VINYL PLASTIC, 60 YD. X 2 INCH WIDE, COLOR: RED. ChampionFTAP26RD AS SPEC	8841-BSN SPORTS LLC	EACH	\$5.62	3	\$16.86
03221270	Team belts, 3.5 inch wide, velcro size adjusts; set/6 red and yellow; size large Sportime1273595	8841-BSN SPORTS LLC	EACH	\$45.66	11	\$502.26
03221304	Tunnels, Pathway Super-Enormous, 40 inches in diameter, made from durable nylon cover with sturdy spring-steel construction. Connect multiple tunnels with velcro at skired ends, collapses for storage in zippered nylon bag	7281-THE PROPHET CORPORATION	EACH	\$260.93	2	\$521.86
03221310	Whistles, plastic, Acme Thunderer, English made, Size/Small. Acme -CHAMPION JV38025	8055-STAPLES INC	DOZ	\$12.95	4	\$51.80
03221312	Whistle- Fox 40 Pealess Whistle.MSWHIFOX AS SPEC	8841-BSN SPORTS LLC	EACH	\$3.40	16	\$54.40
03221356	STEP STOOL; 3-Step Pro-Grade Steel Step Stool, 300 lbs.	183230-METCO SUPPLY INC.	EACH	\$118.25	2	\$236.50
03221358	STORAGE TOTE; 70 Gal. Tough Storage Tote with Wheels in Black with Yellow Lid.	183230-METCO SUPPLY INC.	EACH	\$111.40	9	\$1,002.60
03221369	Wipes, 2XL Antibacterial Gym wipes, refill fresh, 700 wipes per pack, 4 pack per case.1041474 GERMS	211950-SCHOOL HEALTH CORPORATION	CASE	\$41.96	1	\$41.96
					175	\$35,770.30